== O-I
A & 0l & AF 2 E A A
2AMd: DS
HM: NEHUFY N (RELSF/USLE - =27SIIEH
S HSnsSAHHA &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ws 45,514,145 29,869, 786 15,644,359
= 3,067,340
s 16,927,600
J| 3,085,000
N 120,000
= 22,314,205
DA HH(LELEF/HERS - EFRSIIE 31,526,018 26,575,239 4,950,779
= 967,340
s 7,532,600
J| 3,085,000
< 19,941,078
s MUl A &at 18,113,368 15,068, 364 3,045,004
= 864,840
s 7,532,600
J| 3,085,000
< 6,630,928
sws AMHIA e 1,285,794 392,660 893, 134
201 Let24d] 3,500 0 3,500
01 At 22l 3,500 0 3,500
ollsns B AMHAZ =& 3,500
202 O4dl 35,000 35,000 0
01 = LH 4 Hi 35,000 35,000 0
otzns 23 &« N3ZUIAMY SXlEol 12,000
O & stEksI 2AME N 23,000
207 & O & H| 60,000 20,000 40,000
01 2284 60,000 0 60,000
oOlznsE2d N 2Y & HulA Eot 60,000
308 XXM SO0l A 325,686 0 325,686
01 IXNSHHBNEES 325,686 0 325,686
OHA 22BMI AS N 250,686
OL-FEAl Ut E X 75,000
403 X SHHSA=0l& 861,608 337,660 523,948
01 HIXSHMA=2E X 861,608 337,660 523,948
OWAMUTSXEHDE SZMA 380,200
OEAl SHEAH Mx| 4,158
OBHEEAl 43t 77,250
OHAISXa 2 HE 200,000
OHYAl 23 MX dH =4 200,000
HAaHA SUEE(=1) 735,740 366,552 369, 188
= 459,840
< 275,900
403 UtXISHH S =0l & 735,740 366,552 369, 188
= 459,840




2N DNED
HM: NEHUFY N (RELSF/USLE - =27SIIEH
S HSnsSAHHA &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 275,900
01 XM A2E X 735,740 366,552 369, 188
OMaHA EEX 735,740
= 459,840
< 275,900
SYUDELT TUBE(2D) 315,000 189,000 126,000
= 210,000
= 105,000
403 XIS E X201 E 315,000 189,000 126,000
= 210,000
< 105,000
01 X SHHA2E= 315,000 189,000 126,000
SEgussH &Y 315,000
= 210,000
< 105,000
CAE RnEIYE(SIE A1) 802,000 525,000 277,000
s 349,000
< 453,000
308 AHXIEHHSOIA 802,000 525,000 277,000
s 349,000
< 453,000
01 HIXNHHNBMNELS 802,000 525,000 277,000
OsHEXS S LEAI(Al) 802,000
s 349,000
< 453,000
=28 DERY(STH YA (2D) 1,315,000 825,000 490,000
as 550,000
< 765,000
308 XXM SOl A 1,315,000 825,000 490,000
as 550,000
< 765,000
01 AXHHILEES 1,315,000 825,000 490,000
OsHEXNS s LEHA(Z) 1,315,000
s 550,000
< 765,000
Al AIEAAY(ZD) 195,000 234,000 239,000
= 195,000
308 MtXIEHMSOIH 195,000 234,000 239,000
= 195,000
01 HXNHHBHEELS 195,000 234,000 239,000
O AIZ X K& 195,000
= 195,000
BAlRz ez XA 223,834 226,000 A2,166
308 AHAIEHHSOIA 223,834 226,000 A2,166




2N DED
HM: NEHUFY N (RELSF/USLE - =27SIIEH
el s nsSMHIA & (&=l
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 AXSHHBLEES 223,834 226,000 AN2,166
OHAIRS IHEF+2 XA 223,834
2 Sgusst 22 NA(21) 3,085,000 3,809,000 AT24,000
J| 3,085,000
201 -4 24,500 17,000 7,500
J| 24,500
01 At 22l 12,000 5,000 7,000
oA =8 I SEEUSHH 2F EL 12,000
J| 12,000
02 =224l 12,500 12,000 500
OZY0ISANAUH N3RS 12,500
J| 12,500
307 212+0| & 692,500 740,172 AA47 672
J| 692,500
05 RIZt2IE = 692,500 740,172 NAT 672
OZ9d0lsXEdEH E2FHI 692,500
J| 692,500
308 XX £ X S0l & 2,368,000 3,051,828 683,828
J| 2,368,000
01 AXSGHBLELS 2,368,000 3,051,828 A 683,828
OANZ Eg8uns=t 24 X2 2,368,000
J| 2,368,000
CAE nERYE(S3E HA)(21) 3,150,000 3,150,000 0
s 2,100,000
< 1,050,000
308 XX EHHSOIA 3,150,000 3,150,000 0
s 2,100,000
< 1,050,000
01 IXNHHBNEES 3,150,000 3,150,000 0
OZAE nNEd (338 HA) 3,150,000
s 2,100,000
< 1,050,000
SZ8 NS2Y(ZBY H2A)(2D) 4,950,000 4,950,000 0
s 3,300,000
< 1,650,000
308 Xi Xl EHX SO & 4,950,000 4,950,000 0
s 3,300,000
< 1,650,000
01 AXHHILEES 4,950,000 4,950,000 0
O=Z8 WERLE (B3 HA) 4,950,000
s 3,300,000
< 1,650,000
HASSEX DX XN (=1) 2,056,000 0 2,056,000
s 1,233,600
s
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HE: DEHY WM (DEY 2SIIE
o9 HERSMHIA B4 o HE)
dEE =
SA-E3H-e2A(EFA) - -BHES Ol &F o4 Oll &F ot Hwsz
= 827,400
403 XHXISHAI S R0l & 2,056,000 0 2,056,000
= 1,233,600
= 822,400
01 RXISHH X2 2 2,056,000 0 056,000
OHAZERD 2,056,000
2 1,233,600
= 822,400
HEDE WEN 2,768,000 10,520,000 248,000
ANolHASSAY WA 6,146,000 4,400,000 746,000
307 91240l ® 6,146,000 4,400,000 746,000
09 2+AANRBES 6,146,000 4,400,000 746,000
OAMSIHASEAY THE X & 4,400,000
OANAHA SHZAT 22012 HLT2 1,746,000
NU - solEHARS 5,602,000 4,900,000 702,000
308 XX £ S0/ ® 5,602,000 4,900,000 702,000
01 X SHHZ &S 5,602,000 4,900,000 702,000
OAU - 501 & 4,900,000
OAU - 501 & SEAMT 2RO HA
A& 702,000
HA S EAS 600,000 600,000 0
308 XX € S 01 & 600,000 600,000 0
01 RXISHBLRES 600,000 600,000 0
CEPFRERESN 600,000
2K BYHA XY 300,000 270,000 30,000
308 XX €A S0/ 300,000 270,000 30,000
01 X SHZ LS 300,000 270,000 30,000
02X BYHA 300,000
HASSALR B4 120,000 50,000 70,000
207 &1 IH 2 bl 120,000 50,000 70,000
EEEEIT 120,000 50,000 70,000
OHASSAY R 120,000
DE SRNY S4 71,000 12,000 59,000
DE - SRNY BHE 51,000 12,000 39,000
201 L2 bl 15,000 12,000 3,000
01 AL 2reltl 15,000 12,000 3,000
93 29 15,000
307 QI2+0| ® 36,000 0 36,000
04 QI AN B T 36,000 0 36,000
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2N DNED
FM: NSNS W (LELSF/ER)
CHelr DEMAM HE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 2,334,600
WESHHEANL &5 13,949,600 3,255,000 10,694,600
= 2,100,000
s 9,395,000
N 120,000
< 2,334,600
WSAHTAE 2= & HUAY 190,000 335,000 A 145,000
N 120,000
< 70,000
403 X SHHSA=0l& 190,000 335,000 A 145,000
N 120,000
< 70,000
01 X SHMA2E X 190,000 335,000 A 145,000
ONSHHEANE = 120,000
EN 120,000
OALE gH=2: &1 70,000
HEloEs g MHAaMSE(Z)(=2) 1,110,000 1,320,000 210,000
s 555,000
< 555,000
401 AIEHI L 201 1,110,000 1,320,000 210,000
= 555,000
< 555,000
01 A& Hl 1,110,000 1,320,000 A210,000
O0EoIEE+Y A 1,110,000
ras 555,000
< 555,000
RI0I2S 7 e AL (AR)(2D) 1,311,000 480,000 831,000
s 1,311,000
403 XS H S K20l & 1,311,000 480,000 831,000
s 1,311,000
01 HAXSHMA=2EE 1,311,000 480,000 831,000
ooglolEs+Y I 1,311,000
s 1,311,000
LoEs Y MHEAY(E)(=21) 190,000 120,000 70,000
s 95,000
< 95,000
401 AIEHI L 2 CHYI 190,000 120,000 70,000
s 95,000
< 95,000
01 A& HI 190,000 120,000 70,000
OLQEs+ad A 190,000
s 95,000
< 95,000
CoEsTe HLAY(AR)(ZD) 55,000 40,000 15,000
s 55,000




2N 1S
M WSoMEA HE(UELER/E2)
el NEHEAILE &= (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
403 XXM S X201 55,000 40,000 15,000
s 55,000
01 XXM A2E = 55,000 40,000 15,000
LolES Y M 55,000
s 55,000
ANXRA TS 25 NA(=12) 1,956,000 960,000 996,000
= 1,956,000
403 XXM S K201 A 1,956,000 960,000 996,000
= 1,956,000
01 XM A=2EE 1,956,000 960,000 996,000
OXIXH ITS 2= XN & 1,956,000
= 1,956,000
XA 2Ses 25 N (=12) 144,000 0 144,000
= 144,000
403 MHXI S S X201 & 144,000 0 144,000
= 144,000
01 AXSHMA2EER 144,000 0 144,000
OXNXH 288z =5 XA 144,000
= 144,000
FIEE HEAE(2D) 8,993,600 0 8,993,600
s 7,379,000
< 1,614,600
403 XXM S X201 8,993,600 0 8,993,600
s 7,379,000
< 1,614,600
01 AXISHMA2E = 8,993,600 0 8,993,600
OFxted Mo 8,993,600
s 7,379,000
< 1,614,600
HHE2HAZH (S ) (IIEH/IIEL) 38,527 39,547 A 1,020
Jl23tl 38,527 39,547 A 1,020
2EM2g JI2Z 4l 38,527 39,547 A 1,020
201 LB-2E| 25,747 25,747 0
01 At 2t 2l 25,747 25,747 0
ORN2Y AR 22l 25,747
202 oddl 9,180 10,200 21,020
01 = LH o4 1l 9,180 10,200 A 1,020
FNE2E =ZWHHH 9,180
203 PR =&l 3,600 3,600 0
04 EMNSSIHRF=EHI 3,600 3,600 0
©202! olat 300,000& =123 3,600




